
Time: 10 Minutes Paper G.Scince 4th (T-1) Total Marks: 10

4th  Month, 2nd Week, 1st  Day Unit No 5: Sound Energy + Heat

Q.No.1. Encircle the correct answers from the following choices. (6 × 1 = 6)


(i) Sound cannot travel in: 
(a) Space  (b) Vacuum   
(c) Closed room  (d) Water 

(ii) The instrument which is used to measure temperature is called:


(a) Thermometer  (b) Vernier caliper  
(c) Screw gauge  (d) Voltmeter 
(iii) Ideal distance of reflecting surface should be: 








(a) 17 meters  17 (b) 15 meters  15 (c) 10 meters  10 (d) 14 meters  14

(iv)Hearing of voice due to its bouncing back is called: 
(a) Reflection  (b) Refraction 
(c) Diffraction  (d) Echo 
(v) Bat can reach to the prey by: 
(a) sense of smell  (b) using echo of sound 
(c) sense of vision  (d) none of these 
(vi) Which of the following uses echo to catch its prey in the dark?


(a) Parrot  (b) Bat  (c) Hawk  (d) Piegon 

Q.No.2 Write the short answers. (2 x 2=4)


(i) How sound is produced? 

(ii) Why does the hot tea become cold after some time?


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